
KBC1177
Revision #1
5/11/2021

TETE-A-TETE 
ASSEMBLY 
INSTRUCTIONS



CHAIR BACK ASSEMBLY
2X

ABC-A0013

CHAIR SEAT ASSEMBLY
2X

ABC-A0014

CHAIR ARMREST 
ASSEMBLY(R)

2X
ABC-A0015

CHAIR ARMREST 
ASSEMBLY(L)

2X
ABC-A0016

CHAIR BACK LEG
4X

ABC-P0062

TETE-A-TETE FRAME
1X

ABC-A0066

TETE-A-TETE FRONT LEG
2X

ABC-P0160

TETE-A-TETE BACK LEG
2X

ABC-P0161

TETE-A-TETE 
ASSEMBLY 
INSTRUCTIONS

COMPONENTS 
REQUIRED FOR 
ASSEMBLY 1/5 



REQUIRED TOOLS
(NOT INCLUDED)
1 - 7/16" SOCKET
1 - SCREW GUN
1 - RUBBER MALLET

1/4" x 3.00"  CARRIAGE BOLT
10X

F0001

1/4" x 1.75"  CARRIAGE BOLT
32X

F0002

#8 X 1.625" DECK SCREW
8X

F0004

1/4" HEX NUT
32X

F0005

1/4" FLAT WASHER
32X

F0003

TETE-A-TETE 
ASSEMBLY 
INSTRUCTIONS

HARDWARE &
TOOLS REQUIRED 
FOR ASSEMBLY 2/5 



ASSEMBLE 2 ADIRONDACK CHAIRS

REFER TO ADIRONDACK CHAIR 
ASSEMBLY INSTRUCTIONS INCLUDED IN KIT.

TETE-A-TETE 
ASSEMBLY 
INSTRUCTIONS

ASSEMBLY 
ADIRONDACK 
CHAIR

3/5 



F0004

ABC-P0160

MATCH
LABELS
FOUND HERE

F0004

ABC-P0161

MATCH LABELS
FOUND HERETETE-A-TETE 

ASSEMBLY 
INSTRUCTIONS

ASSEMBLE
TETE-A-TETE 4/5 



U

REMOVEREMOVE

F0005
F0003

F0001

REPEAT STEP FOR OTHER ADIRONDACK CHAIR

NOTE:
BEFORE ATTACHING
TETE-A-TETE TO CHAIR,
REMOVE 1/4" X 1.75"
CARRIAGE BOLTS WHERE
INDICATED

F0001

TETE-A-TETE 
ASSEMBLY 
INSTRUCTIONS

ATTACH 
TETE-A-TETE 5/5 



 15.11 

 26.96 

 .23 

 20.75 

 4.72 

 25.45 

 22.88 

SPECIFICATIONS
BC1177

SPECS 1/2



 69.33 

 36.92 

 11.92  40.86 

 20.75 

 66.06 

 40.90 

 78.00° 

SPECIFICATIONS
BC1177

SPECS 2/2


	COVER
	Drawing View62

	PG 1
	Drawing View63
	Drawing View64
	Drawing View65
	Drawing View66
	Drawing View67
	Drawing View69
	Drawing View78
	Drawing View79

	PG 2
	Drawing View89
	Drawing View107
	Drawing View110
	Drawing View111
	Drawing View114

	PG 3
	Drawing View82
	Drawing View83

	PG 3(2)
	Drawing View86
	Detail View N (2 : 11)
	Detail View P (2 : 11)

	PG 3(2)(2)
	Drawing View90
	Drawing View95
	Detail View U (1 : 10)
	Drawing View99
	Drawing View100
	Detail View  (1 : 4)
	Detail View AD (1 : 6)
	Detail View AE (1 : 4)

	PG 3(3)
	Drawing View119
	Drawing View120
	Drawing View121
	Drawing View122

	PG 3(3)(2)
	Drawing View127
	Drawing View128
	Drawing View129
	Drawing View130


